
s. 11 – cv. 1 

Čteme Zapisujeme 

tři čtvrtiny 
3

4
 

čtyři pětiny 
4

5
 

sedm desetin 
7

10
 

pět šestin 
5

6
 

  

s. 11 – cv. 2 
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s. 11 – cv. 3 
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s. 11 – cv. 4 
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s. 11 – cv. 5 

 

  15 min =  
15

60
 ℎ =  

3

4
 ℎ          20 min =  

20

60
 ℎ =  

1

3
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s. 11 – cv. 6 

celkem ……………………………………. 160 turistů 

letadlem …………………………………. 
2

4
 turistů 

autobusem ……………………………... 
1

4
 turistů 

autem …………………………………….. x turistů 

 

2

4
+

1

4
=

3

4
 

4

4
−

3

4
=

1

4
  𝑥 =

1

4
∙ 160 = 40 

 

Autem jelo 40 turistů. 

Čteme Zapisujeme 

dvě třetiny 
2

3
 

sedm devítin 
7

9
 

dvanáct setin 
12

100
 

jedna polovina 
1

2
 

    

    

    

    

    

    

    

    

    

    

    

    


